Math 172 Exam 2 Name:

9 June 2016 Reasonably Simplify Point Values in [ boxes |.

1. Evaluate the following improper integral, or show it diverges.
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2. Use the Comparison Test to show the following integral converges.
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3. Consider the parametrically defined curve
z(t) = tant, y(t) =sin’t.
(a) Find the slope of the curve, i.e. dy/dz, at t = w/3.
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(b) Find the speed of the curve, i.e. ds/dt, at t = 7 /4.

(%)= 2 ]
3‘(5;[)" sz?

4. Calculate the fluid force on one side of a plate in the shape of the region shown in the figure.
The surface of the mystery fluid of density p is at y = 2.
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5. Find parametric equations, x(t) and y(t), for the line segment from (—2,0) to (1, —4). Include
the domain of £.
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6. | 3| Find parametric equations, z(t) and y(t), for the circle with center (4, —3) and radius 5. Include
the domain of .

7. Find the length of the parametric curve.
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8. Find the arc length of y = 7 + 2 for 0 < z < 1/2.
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9. Find the length of the polar curve.
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10. Carefully sketch the polar curve r = 2cosf — 1.

11. Find an integral representing the area inside both r = sin 20 and r = cos 26. The shaded region
in the figure below. Do not evaluate the integral.




12. Find the area inside r = /2 cos 50 and outside r = 1, the shaded region in the figure.
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